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Telling the Time

There are 24 hours in a day. But in conversation Russians use a 12-hour system.
Whether it is afternoon or night can be told from the context or the situation.

0.00
23-00 MIHOY b ] 3-00
OAHHHAAUATb
Hac JHH

Beepa

21.00
JAEBHTH
Bevepa

16.00

T HETBIPE Yaca 1HsA

Bcrpetumcesd B ac y MeTpo «YHuBepcute». (dac = 13.00)
S 3akOH4y pabOoTaTh HE paHbIIE BOCBMH 4acoB. (Bocemb yacoB = 20.00)

KoHuept HaunHaeTcs B ceMb. (ceMb yacoB = 19.00)

In a formal setting, precise time is usually specified with hours and minutes. In informal
styles, constructions with the words nosoBuHa, yeTBepTb arc more widespread.

15:30

BcTrpeda cocTouTces B IIATHAAIATH YaCOB TpUALIATh MUHYT. (formal)

Mama k€T MEHsl y Mara3uHa B MoJIoBUHE 4eTBEPTOro. (informal)

B:L5S

[Toe3a OTXOAMUT B IIECTh YaCOB COPOK ISATh MUHYT. (formal)

bes yeTBepTH (ATHAAIIATA) CEMBb 1 Oyay Ha Bok3aie. (informal)
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Table: Time of the Day

Formal Informal
30 MUHYT MoJI4aca, nmoJIOBUHA
MockoBckoe BpeMsi — 6 4acoB 30 MUHYT. A yitny Ha mosadaca. Yepes moauyaca Oyny

CoOpanue HauHETCS yepe3 30 MHHYT. B ofuce.

Cenuac moJIOBMHA IIIECTOTIO.

15 MunyT YyeTBepTh

MockoBckoe BpeMst — 6 yacoB 15 MUHYT. Cenyac 4eTBepTh LIECTOTO.
On Oyznet uepe3 15 MUHYT. Ero He ObL10 4YeTBepPTH yaca.
45 MUHYT 0e3 yeTBepTH

MockoBckoe BpeMst — 6 4acoB 45 MUHYT. Ceityac 0e3 4eTBepTH IIECTh.
Ona ono3znana Ha 45 MUHYT. S omazgpiBaro. byny Ha mMecte

0e3 YeTBePTH MSTh.

When telling the time we use constructions with Nominative and Genitive, depending

on the time.

All constructions of time with minutes from 1 to 30 are formed using the following
pattern: minutes in the Nominative Case + the next hour in the Genitive Case.

BoceMpb yacoB msaTh MUHYT (8.05, 20.05) = I19Th MUHYT JEBATOTO.
Tpu waca aBaguars MuHyT (3.20, 15.20) = [IBaauiath MUHYT YETBEPTOTO.

[IlecTp yacoB naTHaaaTh MUHYT (6.15, 18.15) = IIaTHaaaTh MUHYT
CEIbMOTO.

All constructions of time with minutes from 30 to 59 are formed using the following
pattern: 6e3 + minutes (remaining before the next hour begins) in the Genitive
Case + the next hour in the Nominative Case.

Yac copok (1.40, 13.40) = be3 aBaauaru aBa.
CeMmb copok 1Th (7.45, 19.45) = be3 nsaTHaAIlaTH BOCEMb.

Jecsath nareaecat nath (10.55, 22.55) = be3 nsatu o1MHHAIIATh.
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Remember that in an informal setting the words MUHYTBI, 4acbkl may be dropped.

Table: Time of the Day

minutes (Nominative) + hour (Nominative) + 0e3 + minutes (Genitive) +
next hour (Genitive) minutes (Nominative) next hour (Nominative)
10.05 = AT MUHYT 15.25 = Tpu waca gBannaTe MATh 14.40 = 6e3 aBaguaTu Tpu
OJMHHALATOIO MUHYT

13.45 = 0e3 naTHAAATA IBA

12.10 = gecsiTb MUHYT IEPBOTO 18.15 = mecTth naTHAALIATH 16.50 = 6e3 TeCATH TIATh

15.15 = naTHaaUIaTh MUHYT 22.20 = necdaTh OBaaIaTh 18.55 = 63 [ISTH COME
(4eTBEepTH) YETBEPTOTO
18.23 = nBanuars Tpu MUHYTHI

CCAbMOI'O

22.15 = nATHaalaTh MUHYT
OJIMHHAIIIATOTO

9.30 = moJIOBUHA IECITOTO

16.35 = Tpuauare nATH MUHYT
MATOTO



